A £ 0l & AF & S

Al A

B%:—ii %i}@ll% 7&'% o (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
St 23,910,293 28,818,855 A4,908,562
= 694,800
Jl 1,219,399
= 1,781,062
Al 20,215,042
23z ME(SSL2R/25 =) 6,877,686 8,968,434 A2,000,748
7l 568,215
= 619,733
Al 5,699,738
23z &S 5,199,686 5,067,434 132,252
Il 558,215
= 619,733
Al 4,021,738
stz & 137,000 95,000 42,000
201 er2 3| 111,000 69,000 42,000
01 AtR2te|HI 91,000 69,000 22,000
O2HHAIM E2H| 50,000,000& 50,000
oggt=ZH] 13,000,000& 13,000
OAdZ3td I EE &
2,000,000& 2,000
o=gH| 4,000,000& 4,000
OHIE EF2d =N A8 89
22,000,000& 22,000
03 A2 I 20,000 0 20,000
o2zt A8 A3E Al
20,000,000 20,000
202 04l 15,000 15,000
01 =LHAHI 15,000 15,000
o2&tz & HSs AR =8
15,000,000 15,000
203 =4l 11,000 11,000
03 A= PR FZ| 11,000 11,000
O=3tilz & MEIE R
3,000,000 3,000
o2 E & e HRFA
3,000,000 3,000
OEEN H oot HRFA
3,000,000 3,000
Oounsdd & 2 HI2FA
2,000,000 2,000
ZstAES2el 283,686 165,600 118,086
101 @124H| 59,486 0 59,486
M ORINZZE2NSE S 59,486 0 59,486
O aEst2t JIZtHZ22 At 2l 21H|
76,9603 2 22« 12 40,635




M 2SI
3. sz (2L 2Z/280=)
telr 23tz &S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OTASS JIAMIEN FE+Y
76,9603 »2H 6« 123 9,236
Ot MatEst2t JIZHHZ2Z2X Alt2l+=&
14,4302 +x2E +BAI 2t 123 2,7mM
O Mat2stat JIZHNZ22 X1 4HEE =
52,639,000 *13% 6,844
201 er23 | 64,200 53,000 11,200
01 At2teltl 16,200 15,000 1,200
oget+=ZH| 12,700,000& 12,700
o lyEs2 2 =58 7Y
2,400,000 2,400
oUNEUTASE R HURAE
1,100,000 1,100
02 S5=2g4l 48,000 38,000 10,000
08E2= € HA 20,000,000 20,000
Ov=H| 8,000,000 8,000
OarL=cled 20,000,000& 20,000
401 AIEHIZ SR HYI 70,000 112,600 A42,600
01 Al&HI 70,000 112,600 A42,600
O=2sAE=E 2= & FH|
70,000,000 70,000
405 AHaHE = 90,000 90,000
01 ML ESFSHI 90,000 90,000
OdzdUxd MEEIH 29 25 78
90,000,000 90,000
SSH0=A X3 634,000 594,000 40,000
307 @12t01 & 599,000 559,000 40,000
02 QB HANEER 401,000 481,000 280,000
O3¢23 =it & TG0 |4
30,000,000 30,000
OALE At "O0H" S35 12,000,000 12,000
OAMO=H/ 381 XA 40,000,000 40,000
OAtd M= Tt 8,000,000 8,000
Ost=0EAMEAIX 2 2301 Bl K&
2,000,000& 2,000
O&=20I=83l AHEAIXIR FEIIA
7,000,000& 7,000
Ostdllz =0 X2 12,000,000 12,000
OAdS<HMl B8l K& 5,000,000& 5,000
OAE ASX=IILH 50,000,000 50,000
OAMEHIIER AEHAIXIR HAl2l XI&H
2,000,000& 2,000
OZgA=H &It K& 7,000,000& 7,000
OAdEs &2t gHl X3
3,000,000& 3,000




2A: ZAHS U
M 20z HE(L2Z/250=)
el 23tz &8 (SH9 &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
ogezsore XA 100,000,000& 100,000
O=2Y EAL HEZ3HAl 10,000,000& 10,000
01d orE(g=2) =2 AHEM ¥ sX2el
A4l XI& 6,000,000& 6,000
O=&t XY 20pteE Ols= 39 K
5,000,000& 5,000
O0tZ =28 &2t3dl X& 3,000,000& 3,000
OHIEEFER Ttae| =20t N&A
3,000,000 3,000
OAME EHEEH tisgs 3l XJ
10,000,000 10,000
OAME HYEEEH ti=g= 3l K&
15,000,000& 15,000
OAIEAIZBHE=2 23N Zdl K&
5,000,000 5,000
OAIEEAC| DY FI| 2HS| &dl X&
2,000,000& 2,000
OAclsel 8 =% tiss 39 Zdl N
6,000,000& 6,000
OAlgAlY &8I XI& 8,000,000& 8,000
OAZEXZZ=3| 2 - OrMsH MA| IR
3,000,000& 3,000
OX=M 3 ZHl XI& 10,000,000 10,000
Od= AAdeld| el &l XA
10,000,000 10,000
Ost=2=Z02lstg sl AHEXIE MAI3 Al X
# 5,000,000& 5,000
O =2MUESE AIEXIS SIE FHl X
5,000,000& 5,000
OS2 SUHUBSAHE S| AMEXF AIZE 2
&3l Zd] K& 5,000,000& 5,000
O3 MEE3 MM
12,000,000& 12,000
03 QX HE2GHIE R 50,000 0 50,000
O8=0Z AHEAIXIE 298| X
50,000,000& 50,000
04 QIZHHAIAIRIE & 148,000 78,000 70,000
OJI=eY 8¢ 2ME &Hl XN&
12,000,000& 12,000
O LHAEY XA 12,000,000& 12,000
o= HISW =H Zdl K&
30,000,000 30,000
ogx Zel sty =M K&
12,000,000& 12,000
ogte & UEsH Zdl X
12,000,000& 12,000
OMESH 23=H ZHl X&
50,000,000& 50,000




2A:

=

FoHS 1

M 2ol s (2L 2E/250=)
el 23tz &8 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
O== BEH =d 2l XA
20,000,000 20,000
308 AXISHMSOIA 35,000 35,000
08 WEI|Z0CHEtE = 35,000 35,000
Ostn QAAE 29 XA
35,000,000 35,000
A& ZSTHEE X3 2,220,430 1,992,290 228,140
306 23 1,793,430 1,668,290 125,140
01 2932 1,793,430 1,668,290 125,140
OMEZHE =HA= 1,793,430,000& 1,793,430
308 AXISHMSOIN 427,000 324,000 103,000
N SI 2SS B AR LE ALY 427,000 324,000 103,000
OHM253 AZE23HH K=
330,000,000& 330,000
OAtEI0l=2 29 60,000,000& 60,000
OAIEZSHH A2 7R &2
37,000,000 37,000
Zofolm et s kIR 25,000 16,000 9,000
& 12,500
Al 12,500
307 212+01™ 25,000 16,000 9,000
& 12,500
Al 12,500
02 QIZHAAAIHE X 25,000 16,000 9,000
OME =33 ZSHHAF XI&
10,000,000 10,000
= 5,000
Al 5,000
OEAIE TA K& 15,000,000 15,000
& 7,500
Al 7,500
ALK 370,000 323,144 46,856
307 212+01™ 370,000 323,144 46,856
02 QIZHAAAIHE X 140,000 122,500 17,500
O=3ztetn 29 A& 40,000,000& 40,000
OEMATA 2F XA
10,000,000& 10,000
OFLH M=l K& 60,000,000 60,000
OZYZM==H &0t N&
15,000,000& 15,000
0dY =24 =2 ZAlS &I N&
3,000,000& 3,000
odgd AdH Ml X
6,000,000& 6,000
Ox=Y=ZE 8N K& 6,000,000& 6,000




2A:

EcIpS (el

. 230z NE(2FL2Z/25H0=)
telr 23tz &S (St &)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
03 CIZIHXHE2IHIB X 230,000 200,644 29,356
OMEZ3E 29| XIH
60,000,000& 60,000
OMAE =3 A=201= o1AHH| XA
135,000,000& 135,000
OAMNE 23 AMgESHl XA
35,000,000 35,000
SHAZEN & SHHa2EA X 35,000 30,000 5,000
307 2I2t01™ 35,000 30,000 5,000
02 CIZHEAAMHE R 35,000 30,000 5,000
OSTHAIRSIN & BtTHAIR LA Hb| X2
35,000,000 35,000
AMNE =2 =2 B4, D8 FAUE 45,000 40,000 5,000
T 10,000
Al 35,000
307 S1Zto| ™ 45,000 40,000 5,000
= 10,000
Al 35,000
02 CIZHEAAMHE R 45,000 40,000 5,000
ORI 2201 FBUS U DA0E HBIX
& 45,000,000& 45,000
& 10,000
Al 35,000
AEIZOPIM JIA 80,000 80,000 0
T 20,000
Al 60,000
307 S1Zto| ™ 80,000 80,000 0
= 20,000
Al 60,000
04 QIZHSHAIAIZ E X 80,000 80,000 0
O&EILOIIIM JIM ZHl K&
80,000,000& 80,000
& 20,000
Al 60,000
H=28 =M &4l X3 40,000 20,000 20,000
T 10,000
Al 30,000
307 QIZ2t0IA 40,000 20,000 20,000
= 10,000
Al 30,000
04 QIZ2FSHAIAI X 40,000 20,000 20,000
OEx=2d =M &bl K&
40,000,000& 40,000
& 10,000
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2A:

EcIpS (el

3. sz ds(2L2Z/280=)
el Estolzs 29 (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
stz 29 1,678,000 1,401,000 277,000
308 XHXIEMSOIH 1,513,000 1,401,000 112,000
11 S 2SS & HASAIE 1,513,000 1,401,000 112,000
O=3ti=sla 24 2
1,513,000,000& 1,513,000
401 Al HIZ S OHbI 165,000 165,000
01 AlZHI 165,000 165,000
O2stt=al2t YPZE HH|
100,000,000 100,000
O=3ol=al 2t ASHE HHl wH
65,000,000 65,000
23 2= (2L 2E/25HH) 3,205,100 4,686,720 21,481,620
= 694,800
= 630,680
Al 1,879,620
ZH 2& 3,205,100 4,686,720 A1,481,620
= 694,800
= 630,680
Al 1,879,620
SEHESMN &ds K 44,400 50,400 26,000
= 22,200
Al 22,200
301 LeEN= 44,400 50,400 26,000
S 22,200
Al 22,200
14 JIEt2a3 44,400 50,400 26,000
GRS PSmET 44,400
o2 KM 9,000,000& 9,000
S 4,500
Al 4,500
olls E=A4 11,400,000 11,400
= 5,700
Al 5,700
olils ER=2XN 24,000,000& 24,000
< 12,000
Al 12,000
SHSSHH ZHBAHI NS 4.200 4.200 0
= 2,100
Al 2,100
307 212t01™ 4,200 4,200 0
= 2,100
Al 2,100
02 QI HBEANEEX 4,200 4,200 0




FA: 2SI
¥ 23 2E (2L 2E/28H)
Cel: 23 BE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEEENESTEYVIBNE
4,200,000& 4,200
= 2,100
Al 2,100
=IHIE2=H & SEZ3M 234 X2 522,000 1,160,000 638,000
= 365,400
= 54,810
Al 101,790
401 AIEHIX R0 522,000 1,160,000 A\638,000
= 365,400
S 54,810
Al 101,790
01 A&l 522,000 1,160,000 638,000
ONBSERE EX0HY
500,000,000 500,000
= 360,000
& 52,500
Al 97,500
OAE A2 HIXUS 2SAIY
22,000,000 22,000
= 15,400
= 2,310
Al 4,290
CXE2H 2+=34| 804,000 615,000 189,000
= 402,000
Al 402,000
401 AlZHIZ SO 804,000 615,000 189,000
== 402,000
Al 402,000
01 Al&HI 804,000 615,000 189,000
OAIE 2AAESAHA EXI0HE
250,000,000 250,000
== 125,000
Al 125,000
OArE EtEel MOt F=HZHISA
93,000,000 93,000
=S 46,500
Al 46,500
o=t 2= | 128,000,000 128,000
< 64,000
Al 64,000
OAE CHEA S8E FHIHISAL
150,000,000 150,000
= 75,000
Al 75,000




FA: 2SI
¥ 23 2E (2L 2E/28H)
Cel: 23 BE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAtEE N FHIHISA 80,000,000 80,000
= 40,000
Al 40,000
OAIY ZERAL =HEHISA
86,000,000 86,000
== 43,000
Al 43,000
OAtE U2d=¢ =8 JHISA
17,000,000 17,000
= 8,500
Al 8,500
NSEUEsE M5 2& 49,000 49,000 0
=S 14,700
Al 34,300
307 21201 & 49,000 49,000 0
< 14,700
Al 34,300
02 LB HANHEE 49,000 49,000 0
Ossla 2 (MEEN, 22e)
22,000,000 22,000
= 6,600
Al 15,400
O S22 HSAS(AMEEL, 2 2e
) 27,000,000& 27,000
s 8,100
Al 18,900
Sl MY 23 22 MY 197,500 200,000 A2,500
= 79,000
s 19,750
Al 98,750
307 @I2t01 & 197,500 200,000 22,500
= 79,000
= 19,750
Al 98,750
02 QI AAEE X 197,500 200,000 22,500
O%u A& 23 S A 197,500
S\ rsk=mi 197,500,000 197,500
= 79,000
= 19,750
Al 98,750
S3 M 2=+ & JH| 450,000 635,000 185,000
101 eI24d| 30,000 15,000 15,000
M ORNZZ2NSE S 30,000 15,000 15,000




SN 28HSD
¥ 23 2E (2L 2E/28H)
H?el: 2 2& (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OaEN Q0| HATA HEoH
20,000,000& 20,000
OJ|Et 23+ SF 3|
10,000,000 10,000
201 2= 50,000 40,000 10,000
01 At22t2l] 20,000 10,000 10,000
OHZZBY AAISHEA Xtz
20,000,000 20,000
2 35234l 30,000 30,000 0
0332 10,000,000 10,000
OAE&BISF I 20,000,000 20,000
207 ARl 70,000 100,000 30,000
01 A S| 70,000 100,000 230,000
Ot 23 L=XAt Y
50,000,000 50,000
oS 22 BEHX HE
20,000,000& 20,000
308 AHAIEMSOIE 70,000 70,000
1 SIS0t AS A 70,000 70,000
oddicld SE8HIHE 89
70,000,000 70,000
401 AIEHIZ R HYI 230,000 480,000 /250,000
01 Al&H| 230,000 480,000 250,000
o279 W M= & ==&l
100,000,000 100,000
o229 L 222 &X & 2=
50,000,000 50,000
odHdEd SEEH 80,000,000 80,000
SEEM NE L 2 364,000 327,000 37,000
301 22N = 24,000 36,000 212,000
14 JIEt2d = 24,000 36,000 212,000
O=I)INERE 23N d=stn X
24,000,000 24,000
307 el2tol & 311,000 264,000 47,000
02 2IZHBYAIHE & 159,000 124,000 35,000
Oguw 4HUA Ml X 12,000
o AEE W 6,000,000& 6,000
ozZefern 6,000,000 6,000
Ogw AMzZA WA 2 20,000
S2\rskami 10,000,000 10,000
oz=gfghl 10,000,000 10,000
OAtEE L BtAINA 2
15,000,000 15,000
Ogu J2d I 6,000
S2\rskami 3,000,000& 3,000




FA: 2SI
Hal: 25T BE(SUB/2ET)
oel: 2 22 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Si=s i 3,000,000& 3,000
OEAL Ml XI& 9,000
o AN 3,000,000& 3,000
o H AL 3,000,000& 3,000
oM EFHA 3,000,000& 3,000
OQIrtZt FSH Ml X3
3,000,000 3,000
OHOEO0l 02 SHGH= Ot=2Z2& 04l
3¢ A& 6,000,000& 6,000
OHES3M AL X2 3,000,000 3,000
OME 23 ESSHEA XA
30,000,000& 30,000
OssH dacld =AM 30,000,000& 30,000
Ofg&s UsIdl 28 X
25,000,000 25,000
03 M EE2SHIEX 162,000 140,000 12,000
Ogu & PEIMN dr-uFs2 28| X
& 162,000
oAtEE 50,000,000 50,000
o= et 20,000,000& 20,000
oME RERIN drus2
60,000,000 60,000
oA RE2 drus2
22,000,000& 22,000
308 AXIHSOIA 29,000 27,000 2,000
08 WEII20UStEx 29,000 27,000 2,000
oxsEs 54 A& 29,000
ondxsSst NSRS 54 N
6,000,000 6,000
oXZxSs HSES |54 &
5,000,000& 5,000
oligx=Ss NSRS 54 N
5,000,000& 5,000
ogdxssty MSEd 54 N
8,000,000 8,000
oggssty 882 §4 A&
5,000,000& 5,000
Z3HH OF ALY 150,000 325,000 A175,000
307 @I2t01 & 150,000 325,000 A175,000
02 QIHEHAIEE X 150,000 325,000 A175,000
OAtE Z3HH OFH AL 150,000,000& 150,000
H=ls2 230w A BIXIALS 96,000 99,000 3,000
= 38,400
= 11,520
Al 46,080




FA: 2SI
¥ 23 2E (2L 2E/28H)
Cel: 23 BE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 96,000 99,000 23,000
= 38,400
== 11,520
Al 46,080
M ORNZZ2NSE S 96,000 99,000 23,000
Of+us2 20sWFA BHIXIAI 96,000
SANMPEESM HruSs2
64,000,000& 64,000
= 25,600
< 7,680
Al 30,720
olt=ZYotae| Mxns2t
32,000,000& 32,000
= 12,800
& 3,840
Al 15,360
HSAE SMHAAYE FRE2=AHE 24,000 24,000 0
= 12,000
& 3,600
Al 8,400
207 ARl 24,000 24,000 0
= 12,000
< 3,600
Al 8,400
01 H7ESHI 24,000 24,000 0
OHSAME YMAIAEY ST SLAY
24,000,000 24,000
= 12,000
== 3,600
Al 8,400
HSAME EEHl At 400,000 400,000 0
= 200,000
== 100,000
Al 100,000
402 2I2E X201 & 400,000 400,000 0
= 200,000
= 100,000
Al 100,000
02 RIENSASEZ(0IETHR) 400,000 400,000 0
OLHEAL MRAH SRS At
400,000,000& 400,000
= 200,000
= 100,000
Al 100,000




FA: 2SI
¥ 23 2E (2L 2E/28H)
oel: 2 22 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CIXIEAMNE2SHHA 22t 100,000 0 100,000
308 XHXIEMSOIH 100,000 0 100,000
11 SIS0t AAS A 100,000 0 100,000
OUIXNEAMZSHE &2t
100,000,000 100,000
HEUE (2L 2Z/HK) 13,739,867 15,048,101 1,308,234
Jl 661,184
=S 530,639
Al 12,548,044
dEHE |54 2,328,864 2,176,076 152,788
Jl 661,184
= 43,639
Al 1,624,041
A= JHA 294,000 350,000 £56,000
307 @120l & 294,000 350,000 /56,000
04 QIHHAMAIH 2 £ 294,000 350,000 /56,000
osds H=lal X2 294,000,000 294,000
NHER M= X 165,000 158,000 7,000
201 223 45,000 38,000 7,000
03 A2 I 45,000 38,000 7,000
o2 o = 203 X
35,000,000& 35,000
OXIctel MEXISUHE X2
10,000,000 10,000
307 @I2t0| & 120,000 120,000
04 QIZHHAMAIH 2 £ 120,000 120,000
Os=E MU X2
120,000,000 120,000
ARIAZZ DI K& 20,000 20,000 0
307 glztol & 20,000 20,000
04 CIZHHAMAIH 2 & 20,000 20,000
20233 AlplAZZ0|tH=l K&
20,000,000& 20,000
HEHFUH2 X 230,880 180,200 50,680
307 @20l & 230,880 180,200 50,680
02 QB HANEEX 230,880 180,200 50,680
ocH(d5d) s 283 X
el 12,000,0002 12,000
OZ4dar dENSUHEM EXBH X2
120,000,000 120,000
odgHE S=E FH2Hl N&
5,000,000& 5,000
OYENSXTA &SHI X (ML)
83,880,000 83,880




FA: 2SI
I MSS(2L2E/H=)
ool dEHs =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMEMSIIE AXx HE 24l X
10,000,000 10,000
HENSES |54 A2 50,000 60,000 10,000
307 gl2to| & 50,000 60,000 10,000
02 QIZHEAAEE X 50,000 60,000 10,000
OAEAIMZ2 &8 H&HFUHS X2
40,000,000 40,000
0Z2g MEHSHE Zb| X
10,000,000 10,000
MEHS 223 X 14,411 14,411 0
= 3,525
Al 10,886
307 gl2to| & 14,411 14,411 0
= 3,525
Al 10,886
02 QB AANEE R 14,411 14,411 0
OMENS Z2IY 2% X
14,411,000& 14,411
[ 3,525
Al 10,886
e S W 15,154 15,154 0
= 3,864
Al 11,290
307 el2to| & 15,154 15,154 0
= 3,864
Al 11,290
03 PIZHHEE 22X 15,154 15,154 0
oMEHSDY 2% X
15,154,000 15,154
[ 3,864
Al 11,290
o M=ssotel s K& 5,970 5,550 420
= 2,985
Al 2,985
307 el2to| & 5,970 5,550 420
= 2,985
Al 2,985
03 PIAHHEE 22X 5,970 5,550 420
O M=Es0tel s XN
5,970,000& 5,970
S 2,985
Al 2,985
JOHIN= g4t X2 70,500 49,500 21,000
307 lztol & 70,500 49,500 21,000




A 2SI
M HRUS (S 2E/HR)
ool dEHs =4 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 QI AANEE X 52,500 39,500 13,000
O3y =02l M=tz &8 24l X2
4,000,000 4,000
O3dg e HEH=UHa =28 3Hl A
15,000,000 15,000
OZg Alz el I £ H
A& 2,000,000 2,000
OZg Alz e 5= E& dHl K&
1,000,000 1,000
O0Zdg s0te! =28z &8 &4l XA
2,000,000& 2,000
sofel &0iEl & Pl X
1,000,000 1,000
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